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THE OPEN UNIVERSITY OF SRI LANKA

DEPARTMENT OF TEXTILE AND APPAREL TECHNOLOGY
CERTIFiCATE IN INDUSTRIAL STUDIES

FINAL EXAMINATION - 2016/2017

TT12634 - APPAREL TECHNOLOGY

DURATION -3 HOURS

DATE: 18t November 2017 TIME : 0930-1230 Hours

Total Number of questions =08

Number of questions to be answered = 06

Answer Question 1, which is compulsory and additional five {(5) questions.
Question 1 carries twenty five (25) marks. Other questions carry fifteen (15) marks

each.

Compulsory question

(1) (a) With the help of a diagram, explain the meaning of the “stitch length”.

_ (2 Marks)
(b) Classify the stitches according to the British Standard. (3 Marks)
(c) Write four (4) types of sewing machine beds. (2 Marks)
(d) What is the ticket number of a sewing thread made up of two plies of 40 Nm?
(3 Marks)

(e} Write three (3) factors, which should be considered during the process of lay
planning. (3 Marks)
(f) What is marker efficiency? (2 Marks)
(g) Write a main disadvantage of a band knife. : (1 Marks)
(h) Write three (3) different types of sewing room production systems. (3 Marks)

) Write three (3) management functions in an organisation. (3 Marks)
(j) The cost of quality can be divided into three (3) major categories. What are

they? , (3 Marks)




Answer any five (5) questions from following questions.

(2) Following figure shows a rough sketch of a dress style,

(a} List all the required measurements to draft patterns for this dress. (5 Marks)
(b) Explain with rough sketches the appropriate method of taking ten (10)

measurements, mentioned in part (a), using a female figure. (10 Marks)

(3} (a) Briefly explain three (3) methods of forming a loop of thread, during the stitch
~ formation process. (3 Marks)
(b) Compare lock stitch type (301) and chain stitch type (401). (6 Marks)
(c) Explain with clear diagrams, the method of constructing following three (3)
seam. .types.' 7
(1) N ‘Channel seam
- -(il)- Welt seam

(iiiy French seam (6 Marks)

(4) (a) Explain the functions of three (3) different parts, found in the sewing head of a
single needle lock stitch machine. 7 (b Marks)
(b) Explain three (3) different feeding mechanisms found in sewing machines.

(9 Marks)




(5) (a) Explain three (3) major reasons for using interlinings in garments. (9 Marks)
(b) Briefly explain three (3) different factors governing the sclection of interlinings

for garments. _ {6 Marks)

(6) (a) What is meant by “line balancing™? C (3 Marks)

(b) A production line includes;.- the following operarl:ions.

Operation SMV
1. | Make sleeves 2.55
2. | Close darts and seams 5.05 |
3. | Under press . 3.40 |
4. | Sew on collar 2.25 : |
5. | Sew in sleeves 1.55
6. | Sew hem 1.75
7. | Press Off 3.25

(i) How many work places would be required at each operation to make 180

garments a day? Assume a working day of 450 minutes. : (5 Marks)
(i) How many actual operators would be needed to staff the line? (3 Marks) |
ii1) ‘Calculate the balancing loss of this sewing line. 4 Marks
& g _

(7) Write short notes on following;:

(a) Garment pressing | | (5 Marks)
(b) Garment labelling (5 Marks)
(c) Garment defects (5 Marks)
(8) (a) Explain five (5) functions of a trade union in a garment factory. (5 Marks)

(b) Discuss the importance of having a proper grievance handling procedure in an
organisation. (5 Marks)

(c) Explain the importance of industrial safety. (b Marks)

(V%)




